
S3
3

S3
4S3

5
S3

6
S3

7
S3

8
S3

9 S4
0

S4
1

S4
2

S4
5

S4
6

S4
7

S4
8

S5
0

S4
3

S4
4

S5
1

S5
2

S4
9

 D
N

4 0
0  

b
e

to
n

L =
2 3

,7
0  

m

 D
N

40
0 

b
e

to
n

L=
29

,7
0 

m

 D
N

40
0 

b
e

to
n

L=
45

,9
0 

m

 D
N

40
0 

b
e

to
n

L=
58

,3
0 

m

 D
N

50
0 

b
e

to
n

L=
49

,2
0 

m

 D
N

50
0 

b
e

to
n

L=
13

,8
0 

m

 D
N

40
0 

b
e

to
n

L=
6,

30
 m

 D
N

50
0 

b
e

to
n

L=
19

,8
0 

m

 D
N

50
0 

b
e

to
n

L=
22

,1
0 

m

 D
N

50
0 

b
e

to
n

L=
24

,7
0 

m

 D
N

50
0 

b
e

to
n

L=
14

,8
0 

m

 D
N

50
0 

b
e

to
n

L=
50

,4
0 

m

 D
N

50
0 

b
e

to
n

L=
44

,7
0 

m

 D
N

50
0 

b
e

to
n

L=
20

,3
0 

m

 D
N

50
0 

b
e

to
n

L=
25

,2
0 

m

 D
N

50
0 

b
e

to
n

L=
41

,2
0 

m

 D
N

50
0 

b
e

to
n

L=
23

,8
0 

m

A

R
e

w
iz

ja
:

Z
a

d
a

n
ie

:

R
y

su
n

e
k
:

S
k

a
la

:
R

o
zm

ia
r 

[m
m

]:
N

r 
R

y
su

n
k

u
:

1:
50

0

P
R

ZE
B

U
D

O
W

A
 K

O
LE

K
TO

R
A

 Ś
C

IE
K

O
W

EG
O

 "
G

2
" 

M
ET

O
D

Ą
 B

EZ
W

Y
K

O
P

O
W

Ą
 W

 P
ŁO

C
K

U

LE
G

E
N

D
A

S1

SY
M

B
O

L
O

B
JA

ŚN
IE

N
IA

D
N

3
0

0
 b

e
to

n
L=

4
1

,5
0

m

2
9

7
x1

3
0

0
5

P
LA

N
 Z

A
G

O
SP

O
D

A
R

O
W

A
N

IA
 T

ER
EN

U
 S

3
3

-S
5

2

 DN400 beton

L=17,30 m DN400 beton

L=63,70 m

K
o

m
o

ra

S5
3

 D
N

50
0 

b
e

to
n

L=
41

,2
0 

m

 D
N

50
0 

b
e

to
n

L=
9,

90
 m


